Downloaded From:http://www.cbseportal.com

SET -1
Series : ONS/1 S .
Code No. 5 9/ 1/ 1
A . TN I Sl ITR-YRART & TE-IS

Roll No. T 39T g |

Candidates must write the Code on
the title page of the answer-book.

o PUA ST T A [h T AT T Yigd Iz 12 € |

o TYA-UA ¥ I 81T Fl 3R KT T Hig TR Fl B II-YReh o J&-J% W fo7g |

o PUAT ST F A {oh T UeA-UF H 27 WA § |

o HUAT U HT I7X [T % HEA | Uget, U9 HT HHI® Favd fored |

o T WRA-UA W UgH & [T 15 e o w9 TR T € | UeH-0 1 faeRer geed | 10.15 S
foram ST 110,15 a7 § 10.30 ST T ST ool UH-OF T TS 31X T @Y %k IRH o
SAC-GRAHT W hg IR Fal fordwt |

e Please check that this question paper contains 12 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

¢ Please write down the Serial Number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

NECIGRERIE]

POLITICAL SCIENCE

e g9 -3 o St i 100
Time allowed : 3 hours Maximum Marks : 100

T T
(i) @HTFT AT E |

(i) T97 G 1-5 7 Hedleh 597 Qe 37 o7 & | 5 JoH1 7 Fedes S8 20 Vil & 3 7@l &ir
T |

(iii) %7 G&IT 6-10 7 T 797 31 371 BT & | 57 Fo1 7 T FT 40 151 G 371 781
&1 FMET |

(iv) "% G 11-16 TF Hed% 97 < 3H 18 | 37 T 7 Fedah 3 100 Il T 37fee
T&T g7 MR |
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(v) %7 G& 17 G 21 T e J97 Gier 37l &1 & | 37 To1 &7 9e9% 3% 150 o151 @
e 7@ &1 =T |

(vi) 797 G721 TFEGT 9T STHIRT 797 & | §99T I} 91 FT-GIeraT 7 ferlaw |

(vii) %7 G122 T 27 7% Jde 97 & 37 &1 & | 7 791 7 i 37 150 151 § 37w
T&T 81T =MET |

General Instructions :
(i)  All questions are compulsory.

(ii) Questions number 1-5 are of one mark each. The answers to these questions should
not exceed 20 words each.

(iii) Questions number 6-10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11-16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Questions number 17-21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22-27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. dfc =l SeR ¥ Gatyd fefafed w2 § 9 S 91 U6 96l T8 § 2
(a) € YSTUfd T Wr=ast fove o s farsi &1 Uete ot |
(b) =T T 5 fova 95 o QT TeETd (ohaT 4T |
(c) @ ERT 3/ 9 AR, 1989 i dre f&am T |
(d) TE STEAT o ST TR % TeRIHTOT ST e o |
Which one of the following statements about the Berlin war is false ?
(a) It symbolized the division between the Capitalist and the Communist world.
(b) It was built immediately after the Second World War.
(c) It was broken by the people on 9" November, 1989.
(d) It marked the unification of the two parts of Germany.

2. IEIM (TUHSTUA.) i LIYAT =T b TS 2
Why was ASEAN established ?
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3. TMH ¥ Iy JAEd S W1 E SR b — g Srdl ol (AT STET $qet foRiY I ATt
TATEROT HeH! TR 2 1
Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

4. T FF TR 3% W TR o 6 31 oAl 1 A A e 42 2% = 1

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

5. Touel STEie & Gald® S Uge] i ISR iy | 1
Highlight the most novel aspect of the Chipko Movement.

6. I I5 I el & U T faRdret %1 Seei@ HiT | 2x1=2

Mention any two major military features of the Cold War.

7. 0T YR % HdT TSI Sl T % Y W 81 S@d & o TSI i THET o GHTE
IUE g & 17 3T 39 o T R dh Geqd & ? 2

“The leaders of the newly independent India did not see politics as a problem; they
saw it as a way of solving the problems.” How far do you agree with the statement ?

8. TmAfeifad 1 &t faem it - 4xVs=2
(A) (B)
(a) TSI 9 URA foemers e () % ASEER
(b) 1974 W ¥oTel I ESATA T +gcd BT (i)  STAVHILT ARE0T
(c) & HHeH Ut eH ¥ $hR (iii) SISt wATed

(d) fera fexrad & w9 (iv) =i Tud. ¥
Match the following :
(A) (B)
(a) A politically controversial appointment (i)  Charu Majumdar
(b) Led the Railway strike in 1974 (1)) Jayaprakash Narayan
(c) Declined to join Nehru’s Cabinet (ii1)) George Fernandes
(d) Died in police custody (iv) Justice A.N. Ray
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9. TR 1950 % I |, I & I f&EdT i WY SMER U YAad fohaT 4T o, e ustray
1 1966 T Tl T HEAT T 2 2

While the rest of the country was reorganized on linguistic lines in 1950s, why had

Punjab to wait till 1966 ?

10.  JERR YR 61 TS 9 3 el 7 R fohar 74T 2 2

How was the reorganization of North-East India completed and by when ?

11. =9 ol 7% 3706 Aifd = o IR ORIl § = i STIeHee i o TgaraT ? 4x1=4

In which four ways did the new economic policy of China benefit its economy ?

12, THAR SeRME 91 € 2 9% & M faray | 1+3=4

What is Amnesty International ? State its main functions.

13, <afverss U | T S € 2 TA1 /T el A § fof e TUST S G % ware W
ST el 3T =i & 2 2+2=4

What are ‘global commons’ ? Why is it said that international cooperation over the

global commons is not easy ?

14. ¥R S HUF T H T 3T S0 H THEeid Wl o IS0 9 Fohd TR it § 2 T
I | 4

What distinguished the dominance of the Congress Party in India from other

examples of one party dominance in other countries ? Explain.

15. YIRA o M STeeaan % Higel & W@ UROTH 6 SIS TR0 SHifT | 4

Critically examine the major outcomes of the Indian model of mixed economy.
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16. 1977 % FATET Sl ST Ul 7 6T FHR 1975 H @ T IR o SHU AT TS
w9 T o 2 =ren i | 4

How did Janata Party make the 1977 elections into a referendum on the Emergency

imposed in 1975 ? Explain.

17. TST T FaRoT T SHYES gy 3R H=fiad w9 & ST ST ; 1+2+2=5

& 39T Rl USAaTSt STIeHeT Sl 3R R TRE ST A1 | THHT Hefordl o o 39 IR

T AT ¥ G A ST 9T | ¥R Ul S Fa R A o o fhfessad s wew met

T ST T BT | 39k ST T59 bl GURT o TSTIehR0T SR SATadiash W@fded o are

H A I B ST MEA A | FEH EE B SN B F S€el T SR YSiast

UETT ¥ WAl I gE | T Tl H {halt oft Sepfoush et A1 AR T i TR ARl foRar

I |

(i) TF 39 % AW AT = 10T e 4 Q1 avg 9 uReeH o o |

(i) TP HE B 5T BET T T TEAT ST AT 2

(il) TR THEr T TR St hie GEATEAT Fal o, O e @ Haka e & fow
g 3 TS B H & 2

Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist
economy, which meant rooting out completely any structures evolved during this
period. Above all, it meant that private ownership was to be the dominant pattern of
ownership of property. Privatization of state assets and corporate ownership patterns
were to be immediately brought in. Collective farms were to be replaced by private
farming and capitalism in agriculture. This transition ruled out any alternate or ‘third
way’.

(1) Name any two countries which were required to make a total shift.

(i)  Why were the collective farms to be replaced by private farming ?

(ii1)) Since the ‘third way’ had been ruled out, what were the only two ways of
controlling the economy ?
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18. TS T STeaRUT i LAHYAS Ui 3R Ffeiad Ut & 3T 1T 2+2+1=5

T FeT-TReA foraR I8 & foh Svaieh<oT o SROT T bt &THaT I GeBRI bl ST BT

T 3 X D A T HAT A E | I 3T T FHoduIERT I9T H RN 3 AT I TE §

31X ST STE =TT EXARTRRT TF 3 o ot § | T5F 379 Foch Y& A I & 370 i

I TG €, S BT SR T Bl SR TGAT TAT ST AT i G AT | 39 e

% T 3T I YA & g UH TAIh-FHodIUTshRI B § Gie fo7am & et oo Sniéies 31X

HTITSTeh-HeaT0T BT AT | TAh-heaUIhR] 5T i STE 376 IR 37 3R HEISTS

AT T W FERE ¢ |

(i) ‘TS I &THAT H FHH AT Ueh IIEXT §RT 7 IR BT S T HiFT |

(i)  “FHeATITRRI ToT i UROT T T “=JTaH e&daTHRI T FT of T & 2

(iii) TR fFg WehIT QTHITSTeh MRS o1 J& (Heiey o T ¢ 2

Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way to a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions directed at
economic and social well-being. In place of the welfare state, it is the market that
becomes the prime determinant of economic and social priorities.

(1)  What do the words ‘erosion of state capcity’ imply ? Explain with the help of
an example.

(i) Why is the concept of welfare state giving way to a minimalist state ?

(1i1)) How has market become the prime determinant of social priorities ?

19. = 3T T SFeor i eAHgEd Ulgd 3R FEfeiEd U & SR M 2+2+1=5

qRA A S YT TgAl IRHT] URIET0T AT o S SH il TRpeqor R feam | R

T AT o1 foF g STupIfeRT i Fh STifqqul SRl § SEmIer S i 31O AT % Ufd g8

Toheq & | S ook TRET] qdieqor fohar 7T o 9 SR ERe] XISt o fofetsT ¥ SISl hia o |

1973 W 3RE-35REAA I5 g 41 | 6% 1% G¥ [awa H oA & 70 SRTHR 7l gaTl o | 3

LT A A & I H TR g I A | 9IRS T a5 | ek qHensti ¥ oY mar | 9Ra

H TERITT Sgd SR 98 TS |

(i)  9RA 7 3T Ygel TRHT] URIeToT e foham 31X /T 2

(i) YRA = ST IRHTI] GE07 T, S et i YR ol o] TSI I, T Hic HIel

T FHS AT & 2
(iii) 1970 % 33 % URT H Hied g IRILE T % HRIT IR H HeTe 5gd a8 T4
of 2
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Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India
argued that it was committed to the policy of using nuclear power only for peaceful
purposes. The period when the nuclear test was conducted was a difficult period in
domestic politics. Following the Arab-Isracl War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab
nations. It led to economic turmoil in India resulting in high inflation.

(1)  When did India conduct its first nuclear test and why ?

(i)  Why was the period, when the nuclear test was conducted in India, considered

to be a difficult period in domestic politics ?

(i11)) Which international event of 1970s was responsible for high inflation in India ?

20. 9 U T e I SAYEH 3TEHFT DT 3R AANGT F9=T % ST ST
2+1+2=5

m

ﬁ ol
: 5

> \\\

SINCE 1989

—
"'—-' i ! ‘A _,‘:_.,.
—

'« & ‘N‘;':‘ 0,:“\'/&\1&»
«i N i s DM ‘“
() TT T EEA ¥ fhwl IR AL AT H UgdH DT q€T Ui i T g o
fofEm |
(i) 9RA o TEM Tl o ® H =01 7. 2 & HEHe & Jad [OaRRTg g&T 341 o7 2
(ili) 1989 & Tl T FaTeH H, T T U & ed aTet ST i (&It 37 off 2
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Study the cartoon given below and answer the following questions :
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(1)  Identify any four national leaders from the above cartoon and mention the serial
number of each.

(i)  Which was the most controversial issue of the period related to leader No.2 as
Prime Minister of India ?

(ii1)) What was the position of the party led by leader No.l in the Lok Sabha
elections of 1989 ?

At FATAEd 7o Hoer gieaniaa adentemt & o weT T 20 F ©E WE |

2+1+2=5
(20.1) 1984 & T QT TaTe- | fohd o7 7 Tl | STl 37 fehaeh e | 2

(20.2) 1990 H IT HiwT ! AIHR = i AT Tty foamrms fom fomr 2
(20.3) Tohe T =it 7 AT 3T GERT ot YA Sl T47 THERT T TRUMH ke 2

Note : This following questions are for Visually Impaired Candidates only in lieu
of Q. No. 20.

(20.1) Which party had won the maximum number of seats in Lok Sabha

Elections of 1984 and under whose leadership ?

(20.2) What was the most controversial decision taken by the National Front
Government in 1990 ?

(20.3) Which Prime Minister started the new economic reforms and what was
its outcome ?

59/1/1 8

Downloaded-From:http://www.cbseportal.com



Downloaded From:http://www.cbseportal.com

21.
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T 3 |, WANT I e STHERT I 560 T 797 Fatad ST |l =<l a1 7T et & €9 §
foafem |

(i1)
(i)
(iv)
(v)

TR W T G BT HHH e Taw

I HT AN

TS FETdq0] ¥ TR 3 SIEI0T TR T 9T el qHeT T |

T 291 H Al oFerl el W1 & |
=q 39 4 Af7er q91 elHE S IR F IEH R T |
TE Y STRT AT ToTas ET e |

T FIUT I ST 1968 T Tk Fooid T |

Sx1=35
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In the given political outline map of South Asia, five countries have been marked as
@, , @, @ and @ Identify them on the basis of the information given below

and write their correct names in your answer book along with their respective serial
number of the information used and the concerned alphabets as per the following

format :

Sr. No. of the information | Alphabet | Name of Country

(1)  An important country but it is not considered to be a part of South Asia.

(i1)  The country has a successful Democratic System.

(1i1) This country has had both Civilian and Military rulers.

(iv) This country had Constitutional Monarchy.

(v)  An Island nation which was a Sultanate till 1968.

At fAffed ue Fac ghestfaa wdenféat & oo o d@m 21 % ®H W

gl 2+1+2=5
(21.1) Sferor TR § TIF: HH-HF & I WM 6T S0 § 2
(21.2) TfeToT UfYMEN o I H ST 90 H Alhdih el Theides 9t &l & ?
(21.3) T&E (SAARC) T1 TTRT (SAFTA) % fogd 9 faifan |
Note : The following questions are for visually impaired candidates only in lieu of
Q. No. 21.
(21.1) The expression ‘South Asia’ usually includes which countries ?
(21.2) Which two countries of South Asia have successfully operated

democratic system ?
(21.3) Write the full forms of SAARC and SAFTA.

22. Witodd 99 W Wiiodd e i [l di WehRIcHeh a2l e "ehRIcHeh [aTodT3ll i 3SR
HIfT | 3+3=6
arean
Ig el Hel I Stad ¢ [ I I b IR, SRS ST hT HEROT HeTiieRar st
ST X B I T AT B o 0TS I T AT 2 SRS BTy | 6

Highlight any three positive and three negative features each of the Soviet system in
the Soviet Union.

OR
How far is it correct to say the international alliances during the Cold War era were
determined by the requirements of the superpowers and the calculations of the
smaller states ? Explain.
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23. TIHT TS KT o T ARA b G [hT TR & &H AT 2 $Hh a1 H, qRd & 36T

qI fafi= gfteshion 1 faveryor HifT | 3x2=6
reran

U el 9 W@ R T oAb HIST ST IR G B 3Th G areft g

I T, Tk TSR & 3 % foTd ST € | 3x2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.

OR

Evaluate any three major factors responsible for making the European Union a
political force from being an economic force.

24. UH =l A SRR FAAIUT T S G0 DT Y Tt F9er ST gehar & 59 qeft

391 T et & Y | 3x2=6
e

eI YT 3 IR gROT | 1 3R § 2 39 R H T & el af el 6 aue

I | 2+4=6

Describe any three international challenging issues that can only be dealt with when
all the countries work together.
OR

What is meant by traditional notion of external security ? Describe any two
components of this type of security.

25.  “&T HET I HEAT 3] HIOT & YR 9T 9T T4G] Sl TS T, Teh cAlehdish ®Hed & €7

o 3G T 7 TH U AR (95 H o [T i i SUeRT ok aIT | 3x2=6
rerar

WAAA F UTA IRA § AN S ATl ST faeh % Hiedt § Hefqd WeRfd o

ITHEA( o [T &= 1 TLeT0T ity | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were
also seen as more democratic.” Justify the statement with any three suitable
arguments.

OR

Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.
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26. T FRIGY VM & o o U9, S T B TG HA a9 H Werdw aRiefadr &
TP S | 2R3 T B T WS % T W ABET TS I arell el 9r

SUATEAT T ST DI | 2+4=6
rerar

25 SH, 1975 & 9Rd H UG {&fq ®F S B SH % 6w Swert uRietaar #

forvetor ST | 6

Analyse the circumstances that favoured Indira Gandhi to become Prime Minister
after the death of Lal Bahadur Shastri. Mention any four achievements of Indira
Gandhi that made her popular as a Prime Minister.

OR
Analyse the circumstances responsible for the declaration of a state of emergency in
India on 25" June, 1975.

27. YRR fREM HEE §RT 96T ST oot fRaM STigie S, Qe q%el S STRier a M

aret el B HRE! T JUH HIFT | 6x1=6
rerar

&I TR AT ST Yid SHehaiTeh XTSI T Uk S 377 € | 2 foar & fgem areft

foreel et fvemradt 1 a0 AT | 3x2=6

Describe any six factors which made the farmers’ movement run by Bharatiya Kisan
Union as the most successful popular movement.

OR

Which three lessons do we learn from regional aspirations and their accommodation
as an integral part of democratic politics ? Describe.
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